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try containerPath=&quot;org.eclipse.jdt.launching.JREE CONTAINER&guot; path=&quot;2&guot; Type=aguot;4&guot;y
try containerPath=&gquot; —SIMPHONY LAUNCHER&guot: path=&quot;3&quot; uot;4&quot;: /egt;&¥13;&810;"
try externallhrchive=£guot;C:/Users/Leigh/workspace/lpsolvessi/lpsolvessj.jaraquot; pPath=aguot;3&guot; Type=i

EA S

ribute key="grg.eclipse.tptp.platform.instrumentation.ui.CURRENT TNSTR
ribute key="grg.eclipse.tptp.platform.instrumentation.ui.SELECTED TNST
bute ke Tto.pla .1 == tion.ui.SELECTED THNSTER
="C:\Uzers\Leigh\tnp\EnergyCropsi\src\ JM¥Probe . probescript"/>

=

vals
ibute>
nfiguration>




